normalized X?

1072

107

< x2/ndf >

Ratio

< x2/ ndf >

Ratio

[ normalized x? probability |

107}

he hiz_prob
Entries 716 e P P —[Entres 716
Mean 0.9891 0.04f--r-=-r 1T Mean 0.5555
Std Dev 07974 [ + s pev 0.3146
T | ... oo
chi2 0.035 chi2_prol
Entries 716 Enires 716
Mean 0.9891 0.03f--¢---¢ i - | Mean 0.5555
Std Dev. 0.7974 . Std Dev. 0.3146
chiz 0.025f--+--- Thiz_prob
Eniries 716 Eniries 716
Mean 0.9891 Mean 0.5555
Std Dev 0.797 - |std Dev 0.3146
. . . . []

0.015

o

(=R

o

al
TTTTTTT

0.951

0 2 4 6 8 10 12 14 16 18 20

XZ

0 010203040506070809 1

Prob(x?)

. [ ===—"DQM_v0001_R000000001__Global__CMSSW_mkt50i7_RECO
s DQM_V0001_R0O00000001__Global__CMSSW_mktt50i8_RECO
Y| m— DQM_V0001_R000000001__Global__CMSSW_mkit50i9_RECO

w
W=
N

2.5 T T A F
: E : T 1 gf-
| SRR eeeeeans PR PR %< 1.6F-
[ : : v E
[ : 1.4F-
15—* ------------ 1.2F
[ + + E-
gt J‘+++:: : ++ & """""" 0.8F-
r ; 0.6F
o.5f 0.4F
[ 0.2F
1.8 o GF
5
@
r 0.5F
o 1 1(l)2 0 10° — 1072 1071
pl AR(track, jet?



	Contents
	Page 1


